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#include "stdio.h"
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#include <stdio.h>

int main ()

{ int x=97;
char y="A";
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return 0;
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int main ()
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return 0;

—

BATER

45452356
3.15

274 HT

Yod Utk HI I x; %3d IR ERIE I E R 3. x [HN 6. ECH 1./NF 3. Kk, &
AN 23K 5 90— 3d Bl A T8 Ry 3, I H AR X555 Y0 1d B K B R RO 5 905, 2 X pi B
INBURLEC N 2 of, MK FE R 5, M SE PR B B HA 4, i #h— S #1750 .

2. AL N & EL scanf(O)

scan{O) B A T HE & PR v i AT H #2488 4% 23 Wi A AR B0 di , JEE 98 I AR08 4% X
RUTF

scanf (g IEH FAR7E, akE) ;

i .

scanf ("$d%d", &x, &y) ;



e

Ci&&# 5%t
/x B ABAERS, A Bz A L — A B2 A2 A% B, BT LR Enter BT Tab BEMFE x /

(D) w775 . T 18 AR, 5 printf O pR B A% UL AL 405 5
FATE A% P

(2) HbhEFF . FREABIRIN N AE R, & & b bk iE BAT, &oa KRR a FENFF
SO RS 61| el |11 D5 B A= A o U 8

TEREF I

(1) scanf pRECHY Mo dik 26 51 7 24 2 A8 d Mkl L AN SR8 4 44 . ol

scanf ("$d%d",x,vy);

SRR R B < y BB &ox, &y AR U FR GE VT RE A 5
(2) e M AW AT 8 7 BR 1A 2 T Ah s A H A 2 i 5 A D0 7 i ARS8 A
X IO A B O 5 X S T AT AR [ B AT

scanf ("x=%d,y=%d",x,y) ;

AR R FH AR

x=6,y=8 /% nx=nEgry= R RER A, PIASBCHRE EE A — A S, x

(3) 78 Y6 ¢ # 2R W A A I 28 4% A LG S AR IR S A BT A s A . 1
scanf ("%c%csc", scl, &c2, &c3) ;

FEPHUAT I pRFICES R 1% S A 3 A RN EA 25, il .

abcy’ /xcl='a',c2='b',c3="c' */
A AE P FRF Z 0] 84 A — 25 4% A
abcy

W5 — A FAF L o155 A TR MRS 2.5 = A FAF DR 4 3.

e DE MR, AL 0 E BB TR (LIS EH); Mk
BN F AR A F A R AN A RS A5 @ A B (float) BB 38 R A Y6 42
B HYE T S JE (double) 2 38 R R V41 47 4 248

(4) Fy ABPERT 8 2 LT AR B s A ZE .
@ 23H#& 814 Tab 4 ;
@ iRELEY ..

scanf ("% 6d", sa) ; /x HBC 6] /;
Q@ AEEE A B, PATIEN
scanf ("$d%c%f", &x, &y, &2)

A A

12w36.68r25x"



